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Tutorial Session 10 Score:

1. In CUR one difference to SVD is...
@ the left and right matrices in SVD are large and dense where in CUR they are small and sparse

the left and right matrices in SVD are small and dense where in CUR they are large and dense

@ the inner matrix in SVD is small and sparse where the inner matrix in CUR is small and dense

2. In CUR the reconstructionis ...
@ better than the reconstruction in SVD

worse (or equal) than the reconstruction in SVD

@ always as good as in SVD
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